## Some Generalized Formula For Sums of Cube

	n Journal of Advances in Mathematics and Computer Science · June 2023	
DOI: 10.9734	1,JAMICS/2025/V30101109	
CITATIONS		READS
0		53
3 author	rs, including:	
	Lao Hussein Mude	
6	Kirinyaga University	
	11 PUBLICATIONS 7 CITATIONS	
	SEE PROFILE	

# Journal of Advances in Mathematics and Computer Science

#### Journal of Advances in Mathematics and Computer Science

Volume 38, Issue 8, Page 47-52, 2023; Article no.JAMCS.101314

ISSN: 2456-9968

(Past name: British Journal of Mathematics & Computer Science, Past ISSN: 2231-0851)

# Some Generalized Formula For Sums of Cube

Lao Hussein Mude <sup>a\*</sup>, Zachary Kaunda Kayiita <sup>a</sup> and Kinyanjui Jeremiah Ndung'u <sup>a</sup>

#### Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

#### Article Information

DOI: 10.9734/JAMCS/2023/v38i81789

#### Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: https://www.sdiarticle5.com/review-history/101314

Received: 08/04/2023 Accepted: 11/06/2023

Published: 17/06/2023

#### Original Research Article

#### Abstract

The study of integer representations as a sum of powers is still a very long standing problem. In this work, the study of integer representation as a sum of cube is introduced and investigated for non-zero distinct integer solution. Let  $a_1, a_2, a_3, \cdots, a_n$  and d be any positive integers such that  $a_n - a_{n-1} = a_{n-1} - a_{n-2} = \cdots = a_2 - a_1 = d$ . This study formulates some general results for sums of n cube. In particular, this research introduces and develops the diophantine equation  $I = (a_1 + a_2 + a_3 + \cdots + a_n)L = a_1^3 + a_2^3 + a_3^3 + \cdots + a_n^3$  for some integer L. The method involves decomposing integer L into sums of L cube and determination of general representation of integer L using case by case basis.

<sup>&</sup>lt;sup>a</sup> Department of Pure and Applied Sciences, Kirinyaga University, P. O. Box 143-10300, Kerugoya, Kenya.

<sup>\*</sup>Corresponding author: E-mail: hlao@kyu.ac.ke;

Keywords: Diophantine equation; sums of cube; decomposition; integer.

2010 Mathematics Subject Classification: 53C25, 83C05, 57N16.

#### 1 Introduction

The study of integer decomposition into sums of powers is an area that has received much attention since the advent of cryptography .Perhaps this is because of the fact that, the process of integer factorization of composite number in the field of cryptography has contributed immensely in E-commerce and banking industry. The security of most of the popular cryptosystems lies purely on the difficulty of the integer decomposition problem. Indeed a number of scholars have obtained results demonstrating the problem of integer factorization via integer decomposition. Due to this direct application of integer decomposition in the field of computer science, researchers have devoted their attention in the subject of factoring large integers since advent of cryptography. For detailed studies regarding integer factorization see [1, 2]. Recent survey on problems of integer decomposition has demonstrated the importance of integer factorization in the study of the diophantine equations. This research is therefore meant to contribute to the study of integer factorization. Current literature's have shown that many researchers have continued to rely on existing formulas on integer decomposition with no generation of new formulas on integer factorization. Perhaps, may be because of the fact that integer decomposition and representation is not an easy task and has been a very long standing problems. This is therefore set to contribute to this knowledge gap by formulating some general results on sums of cube. The study of integer I for which  $I = (a_1 + a_2 + a_3 + \dots + a_n)L = a_1^3 + a_2^3 + a_3^3 + \dots + a_n^3$  is still hardly available. Most of the attempts have provided solution to diophantine equations problems related to Fermat Last theorem, Ramanujan Nagell equation and with some few exception on the study of polynomial of degree less than 5. For recent work on polynomials of degree less than 5 reference can be made to [1,2,3,4,5,6,7,8,9,10] and for detailed recap on studies on sums of powers the reader may see [11,12,13,14,15,16,17,18,19]. In most of this studies the literature on the studies of integer I for which  $I=(a_1+a_2+a_3+\cdots+a_n)L=a_1^3+a_2^3+a_3^3+\cdots+a_n^3$  is not known. This study is therefore, set to contribute to this knowledge gap by introducing and developing the formula for integer representation  $I = (a_1 + a_2 + a_3 + \cdots + a_n)L = a_1^3 + a_2^3 + a_3^3 + \cdots + a_n^3$  by determining the general integer representation of L. The method involves decomposing integer I into sums of n cube and determination of general representation of integer L using case by case basis.

#### 2 Main Results

In the sequel we present our results and solve some specific cases of our formula  $I=(a_1+a_2+a_3+\cdots+a_n)L=a_1^3+a_2^3+a_3^3+\cdots+a_n^3$ . Throughout this study the following will be standard  $a_n>a_{n-1}>\cdots>a_1$ .

Case i: n = 3

**Proposition 2.1.**  $I = (a_1 + a_2 + a_3)(a_2^2 + 2d^2) = a_1^3 + a_2^3 + a_3^3$  has solution in integers if  $a_3 - a_2 = a_2 - a_1 = d \ge 1$ .

*Proof.* Suppose  $a_2 = a_1 + d$  and  $a_3 = a_1 + 2d$ . To prove  $I = a_1^3 + a_2^3 + a_3^3 = (a_1 + a_2 + a_3)(a_2^2 + 2d^2) \cdots (1.1)$ . It is adequate to establish the equality of equation (1.1). Thus,  $I = a_1^3 + a_2^3 + a_3^3 = I = a_1^3 + (a_1 + d)^3 + (a_1 + 2d)^3 = a_1^3 + a_1^3 + 3a_1^2d + +3a_1d^2 + d^3 + a_1^3 + 6a_1^2d + 12a_1d^2 + 8d^3 = 3a_1^3 + 9a_1^2d + 15a_1d^2 + 9d^3 \cdots (1.2)$ .

On the other hand,  $(a_1+a_2+a_3)(a_2^2+2d^2)=a_1(a_2^2+2d^2)+a_2(a_2^2+2d^2)+a_3(a_2^2+2d^2)=a_1a_2^2+2a_1d^2+a_2^3+2a_2^2d^2+a_2^2a_3+2a_3d^2\cdots(**).$  But  $a_2=a_1+d$  and  $a_3=a_1+2d$ . So, equation (1.2) becomes  $a_1(a_1+d)^2+2a_1d^2+(a_1+d)^3+2(a_1+d)d^2+(a_1+d)^2+2a_1d^2+2a_$ 

Case ii: n=4

**Proposition 2.2.**  $I = (a_1 + a_2 + a_3 + a_4)(a_2^2 + d(a_3 + a_4 - a_1)) = a_1^3 + a_2^3 + a_3^3 + a_4^3$  has solution in integers if  $a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d \ge 1$ .

*Proof.* Let  $a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d$ . Then,  $a_2 = a_1 + d$ ,  $a_3 = a_1 + 2d$ ,  $a_4 = a_1 + 3d$ . To prove  $a_1^3 + a_2^3 + a_3^3 + a_4^3 = (a_1 + a_2 + a_3 + a_4)(a_2^2 + d(a_3 + a_4 - a_1)) \cdots (1.4)$ . It is sufficient to satisfy the equality of equation (1.4). Thus,  $a_1^3 + a_2^3 + a_3^3 + a_4^3 = a_1^3 + (a_1 + d)^3 + (a_1 + 2d)^3 (a_1 + 3d)^3 = a_1^3 + a_1^3 + 3a_1^2 d + 3a_1 d^2 + d^3 + a_1^3 + 6a_1^2 d + 12a_1 d^2 + 8d^3 + a_1^3 + 9a_1^2 d + 27a_1 d^2 + 27d^3 = 4a_1^3 + 18a_1^2 d + 42a_1 d^2 + 36d^3 \cdots (1.5)$ .

On the other hand,  $(a_1+a_2+a_3+a_4)(a_2^2+d(a_3+a_4-a_1))=a_1(a_2^2+d(a_3+a_4-a_1))+a_2(a_2^2+d(a_3+a_4-a_1))+a_2(a_2^2+d(a_3+a_4-a_1))+a_3(a_2^2+d(a_3+a_4-a_1))+a_4(a_2^2+d(a_3+a_4-a_1))\cdots (1.6).$  But  $a_2=a_1+d$ ,  $a_3=a_1+2d$ ,  $a_4=a_1+3d$ . So,  $(a_1+a_2+a_3+a_4)(a_2^2+d(a_3+a_4-a_1))=a_1^3+3a_1^2d+6a_1d^2+a_1^3+4a_1^2d+9a_1d^2+6d^3+a_1^3+5a_1^2d+12a_1d^2+12d^3+a_1^3+6a_1^2d+15a_1d^2+18d^3=4a_1^3+18a_1d^2+4a_1d^2+36d^3\cdots (****).$  Since, equation (1.5) and (1.6) are equal, consequently  $a_1^3+a_2^3+a_3^3+a_3^3=(a_1+a_2+a_3+a_4)(a_2^2+d(a_3+a_4-a_1))$  concluding the proof.  $\square$ 

Case iii: n = 5

**Proposition 2.3.**  $I = (a_1 + a_2 + a_3 + a_4 + a_5)(a_3^2 + 6d^2) = a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3$  has solution in integers if  $a_5 - a_4 = a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d \ge 1$ .

*Proof.* Suppose  $a_5 - a_4 = a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d$ . Then,  $a_2 = a_1 + d$ ,  $a_3 = a_1 + 2d$ ,  $a_4 = a_1 + 3d$ ,  $a_5 = a_1 + 4d$ . To prove  $a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3 = (a_1 + a_2 + a_3 + a_4 + a_5)(a_3^2 + 6d^2) \cdots (1.7)$ 

Need to guarantee the equality of (1.7). Now,  $a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3 = a_1^3 + (a_1 + d)^3 + (a_1 + 2d)^3 + (a_1 + 3d)^3 + (a_1 + 4d)^3 = a_1^3 + 3a_1^2d + 3a_1d^2 + d^3 + a_1^3 + 6a_1^2d + 12a_1d^2 + 8d^3 + a_1^3 + 9a_1^2d + 27a_1d^2 + 27d^3 + a_1^3 + 12a_1^2d + 48a_1d^2 + 64d^3 = 5a_1^3 + 30a_1^2d + 90a_1d^2 + 100d^3 \cdots (1.8).$ 

On the other hand  $(a_1 + a_2 + a_3 + a_4 + a_5)(a_3^2 + 6d^2) = (a_1 + a_1 + d + a_1 + 2d + a_1 + 3d + a_1 + 4d)((a_1 + 2d)^2 + 6d^2) = (5a_1 + 10d)(a_1^2 + 4a_1d + 4d^2 + 10d^2) = 5a_1(a_1^2 + 4a_1d + 4d^2 + 10d^2) + 10d(a_1^2 + 4a_1d + 4d^2 + 10d^2) = 5a_1^3 + 20a_1^2d + 50a_1d^2 + 10a_1^2d + 40a_1d^2 + 100d^3 = 5a_1^3 + 30a_1^2d + 90a_1d^2 + 100d^3 \cdots (1.9)$ . Since, we have equation (1.8) and (1.9) are equal the proof follows immediately.

Case iv: n = 6

**Proposition 2.4.**  $I = (a_1 + a_2 + a_3 + a_4 + a_5 + a_6)(a_3^2 + 11d^2 + a_1d) = a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3 + a_6^3$  has solution in integers if  $a_6 - a_5 = a_5 - a_4 = a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d \ge 1$ .

*Proof.* Suppose  $a_6 - a_5 = a_5 - a_4 = a_4 - a_3 = a_3 - a_2 = a_2 - a_1 = d$ . Then,  $a_2 = a_1 + d$ ,  $a_3 = a_1 + 2d$ ,  $a_4 = a_1 + 3d$ ,  $a_5 = a_1 + 4d$ ,  $a_6 = a_1 + 5d$ . To prove  $(a_1 + a_2 + a_3 + a_4 + a_5 + a_6)(a_3^2 + 11d^2 + a_1d) = a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3 + a_6^3 \cdots (1.10)$ . It is suffices to establish the equality of equation (1.10)

Now,  $a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3 + a_6^3 = a_1^3 + (a_1 + d)^3 + (a_1 + 2d)^3 + (a_1 + 3d)^3 + (a_1 + 4d)^3 + (a_1 + 5d)^3 = a_1^3 + 3a_1^2d + 3a_1d^2 + d^3 + a_1^3 + 6a_1^2d + 12a_1d^2 + 8d^3 + a_1^3 + 9a_1^2d + 27a_1d^2 + 27d^3 + a_1^3 + 12a_1^2d + 48a_1d^2 + 64d^3 = 5a_1^3 + 30a_1^2d + 90a_1d^2 + 100d^3 + a_1^3 + 15a_1^2d + 75a_1d^2 + 125d^3 = 6a_1^3 + 45a_1^2d + 165a_1d^2 + 225d^3 \cdots (1.11).$ 

On the other hand  $(a_1 + a_2 + a_3 + a_4 + a_5 + a_6)(a_3^2 + 11d^2 + a_1d) = (a_1 + a_1 + d + a_1 + 2d + a_1 + 3d + a_1 + 4d + a_1 + 5d)((a_1 + 2d)^2 + 11d^2 + a_1d) = (6a_1 + 15d)((a_1 + 2d)^2 + 11d^2 + a_1d) = 6a_1^3 + 45a_1^2d + 165a_1d^2 + 225d^3 \cdots (1.12).$  Since, we have equation (1.11) and (1.12) are equal the proof follows immediately.

In our next subsection, we provide some examples to support our results in proposition 2.1. We have the following:

Table 1. Sums of three cube

$a_1^3$	$a_{2}^{3}$	$a_3^3$	$a_1^3 + a_2^3 + a_3^3 = I = (a_1 + a_2 + a_3)(a_2^2 + 2d^2)$	d
$1^3$	$2^3$	$3^3$	36	1
$3^3$	$5^3$	$7^{3}$	495	2
$2^3$	$5^3$	$8^3$	645	3
$3^3$	$7^3$	$11^{3}$	1701	4
$5^3$	$11^{3}$	$17^{3}$	6369	6
$10^{3}$	$20^{3}$	$30^{3}$	36000	10
$5^3$	$20^{3}$	$35^{3}$	51000	15
$30^{3}$	$38^{3}$	$46^{3}$	179208	8
$6^3$	$11^{3}$	$16^{3}$	5643	5
$9^3$	$18^{3}$	$27^{3}$	24244	9
$3^3$	$11^{3}$	$19^{3}$	8217	8
$11^{3}$	$21^{3}$	$31^{3}$	40383	10
$15^{3}$	$27^{3}$	$39^{3}$	82377	12
$4^3$	$24^{3}$	$44^{3}$	99072	20

In this subsection, we provide some examples to support our results in proposition 2.2. We have the following :

Table 2. Sums of four cube

$a_1^3$	$a_{2}^{3}$	$a_3^3$	$a_4^3$	$a_1^3 + a_2^3 + a_3^3 + a_4^3 = I = (a_1 + a_2 + a_3 + a_4)(a_2^2 + d(a_3 + a_4 - a_1))$	d
$1^3$	$2^3$	$3^3$	$4^3$	100	1
$3^3$	$5^3$	$7^{3}$	$9^{3}$	1224	2
$2^3$	$5^3$	$8^3$	$11^{3}$	1976	3
$3^3$	$7^{3}$	$11^{3}$	$15^{3}$	5076	4
$5^3$	$11^{3}$	$17^{3}$	$23^{3}$	18536	6
$10^{3}$	$20^{3}$	$30^{3}$	$40^{3}$	100000	10
$5^3$	$20^{3}$	$35^{3}$	$50^{3}$	51125	15
$30^{3}$	$38^{3}$	$46^{3}$	$54^{3}$	336672	8
$4^3$	$14^{3}$	$24^{3}$	$34^{3}$	1352968	10
$2^3$	$11^{3}$	$29^{3}$	$29^{3}$	716620	9
$6^3$	$12^{3}$	$18^{3}$	$24^{3}$	339552	6
$5^3$	$12^{3}$	$19^{3}$	$26^{3}$	465688	7
$9^3$	$14^{3}$	$19^{3}$	$24^{3}$	342108	5
$35^{3}$	$46^{3}$	$57^{3}$	$68^{3}$	21706780	11

In this subsection, we provide some examples to support our results in proposition 2.3. We have the following:

 $\overline{a_1^3 + a_2^3 + a_3^3 + a_4^3 + a_5^3} = I = (a_1 + a_2 + a_3 + a_4 + a_5)(a_3^2 + 6d^2)$  $a_2^3$  $a_3^3$  $\overline{d}$  $1^{3}$  $2^3$  $3^3$  $4^3$  $5^3$ 225 1  $3^3$  $5^3$  $7^3$  $9^3$  $11^{3}$ 2555 2  $2^3$  $5^{3}$  $8^3$  $11^{3}$  $14^{3}$ 4720 3  $3^3$  $11^{3}$  $15^{3}$  $19^{3}$ 4 11935  $\overline{11^3}$  $\overline{29^3}$  $5^3$  $17^{3}$  $23^{3}$ 6 42925  $\overline{10^3}$  $\overline{40^3}$  $\overline{50^3}$  $2\overline{0^3}$  $30^3$ 22500010  $\overline{65^3}$  $\overline{5^3}$  $2\overline{0^3}$  $50^3$  $35^{3}$ 450625 15  $62^{3}$  $30^{3}$  $54^{3}$  $38^{3}$  $46^{3}$ 575000 8  $\overline{4^3}$  $\overline{24^3}$  $9^{3}$  $14^{3}$  $19^{3}$ 24220 5  $6^3$  $\overline{12^3}$  $30^3$  $18^{3}$  $24^{3}$ 48600 6  $\overline{7^3}$  $\overline{3^3}$  $19^{3}$  $11^{3}$  $15^{3}$ 11935 4  $5^3$  $\overline{12^3}$  $27^{3}$  $17^{3}$  $22^{3}$ 37097 5  $11^{3}$  $\overline{47^3}$  $20^{3}$  $29^{3}$  $38^{3}$ 192415 9  $52^{3}$  $4^3$  $16^{3}$  $28^{3}$  $40^{3}$ 12 230720 $29^{3}$  $36^{3}$  $43^{3}$  $50^{3}$  $57^{3}$ 460745 7  $33^{3}$  $41^{3}$  $49^{3}$  $57^{3}$  $65^{3}$ 682325 8

Table 3. Sums of five cube

**Conjecture 2.1.**  $I = (a_1 + a_2 + a_3 + \dots + a_n)L = a_1^3 + a_2^3 + a_3^3 + \dots + a_n^3$  has solution in integers if  $a_n - a_{n-1} = a_{n-1} - a_{n-2} = \dots = a_2 - a_1 = d$  for some integer L.

#### 3 Conclusion

This research, has contributed to problem of integer representation of sum n cubes. In particular, the study has partially determine the value of I for which  $I=(a_1+a_2+a_3+\cdots+a_n)L=a_1^3+a_2^3+a_3^3+\cdots+a_n^3$  for  $a_n-a_{n-1}=a_{n-1}-a_{n-2}=\cdots=a_2-a_1=d$  for some integer L. The study devoted its attention by introducing and developing the formula by way of conjectures and demonstrating the validity of the obtained formula through proof and constructions of tables for sum of three, four, five and six cubes. We therefore, encourage other researchers to work on a more generalized formula for sum of n cube by providing proof of the conjecture outlined in this research.

### Competing Interests

Authors have declared no competing interest.

#### References

- [1] Ajai C. Four biquadrate whose sum is a perfect square. Journal of Integer Sequence. 2021;24: 21.1.8.
- [2] Amir F, Pooya M, Rahim F. A simple method to solve quartic equations. Australian Journal of Basic and Applied Sciences. 2012;6(6):331-336.
  ISSN: 1991-8178
- [3] Amir F, Nastaran S. A classic new method to solve quartic equations. Applied and Computational Mathematics. 2013;2(2):24-27.

DOI: 10.11648/j.acm.20130202.11

- [4] Mahnaz A, Ali S. On quartic diophantine equation with trivial solutions in gaussian integers. International Electronic Journal of Algebra. 1990;31(2022):134-142.
  DOI: 10.24330/ieja.964819
- [5] Michael D, James A. On representation of integers as a sum of three squares. Discrete Mathematics. 1999;199:85-101.
- [6] Najman F. On the diophantine equation  $x^4 \pm y^4 = iz^2$  in gaussian integers. Amer. Math. Monthly. 2010;117(7):637-641.
- [7] Rob B. Factorials and Legendre's three-square theorem. arXiv. 2021;1(2).
- [8] Tristan F, Par K. Poisson distribution of gaps between sums of two squares and level of spacings for toral points scatterers. Communication in Number Theory and Physics. 2017;11(4):837-877.
- [9] Yingchun C. Gauss three square theorem almost involving primes. Rocky Mountain Journal of Mathematics. 2012;42(4).
- [10] Zagier D. A one-sentence proof that every prime  $p \equiv 1 \pmod{4}$  is a sum of two squares. Amer. Math. Monthly. 1990;97:144. Mathematical Institute, 24–29, St. Giles', Oxford OX1 3LB UK rhb@.
- [11] Bombieri E, Bourgain J. A problem on sums of two squares. Internatinal Mathematics Research. 2015;(11):3343-3407.
- [12] David A. A partition-theoretic proof of Fermat's two squares theorem. Discrete Mathematics. 2016;339:4:1410–1411. DOI:10.1016/j.disc.2015.12.002
- [13] Heath-Brown D. A one-sentence proof that every prime  $p \equiv 1 mod 4$  is a sum of two squares. Amer. Math. 1990;2:144. DOI:10.2307/2323918
- [14] Joshua H, Lenny J, Alicia L. Representing integers as sum of two squares in the ring of integers modulo n. Journal of Integer Sequence. 2014;17: 14.7.4.
- [15] Lao H. Some formulae for integer sums of two squares. Journal of Advances in Mathematics and Computer Science. 2022;37(4): 53-57. Article no.JAMCS.87824 ISSN: 2456-9968.
- [16] Lao H. On the diophantine equation  $ab(cd+1)=u^2+v^2$ . Asian Research Journal of Mathematics. 2022;18(9): 8-13. Article no.ARJOM.88102 ISSN: 2456-477X
- [17] Najman F. Torsion of elliptic curves over quadratic cyclotomic fields. Math. J. Okayama Univ. 2011;53:75-
- [18] Par Y. Waring-Golbach problem. Two squares and Higher Powers. Journal de Theorie des Nombres. 2016;791-810.
- [19] Rabin M, Shallit J. Randomized algorithms in number theory. Comm. Pure Appl. Math. 1986;39(suppl.):S239–S256.

© 2023 Mude et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

#### Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

http://www.sdiarticle5.com/review-history/101314